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Ankit 
Introduction:
Good – You opened strongly by framing the issue in terms of empowering talent vs. dependence on foreign markets, which sets a good context.
Improve – Could add one brief line on India’s IT/tech reliance to make the context sharper.
Body:
Good – The answer is neatly divided into Implications, Challenges, and Measures. You covered rising costs, reduced remittances, brain drain, weak R&D, and bureaucratic hurdles, along with measures like Make in India, diversification, startups, and AI/semiconductors.
Improve – A short mention of geopolitical/diplomatic implications (Indo-US relations, global labour politics) would make the body more comprehensive.
Conclusion:
Good – Very strong, linking India’s shift from dependence to resilience with SDGs and Viksit Bharat@2047.
Improve – Keep the ending slightly more concise; one clear punchline on policy reforms would have been ideal.
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